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Roll No. :
O#jective Intermediate Part Second *
Paper Code MATHEMATICS ( Objective )
8191 Time: 30 Minutes Marks: 20

You have four choices for each sbjective type question as A, B, C and D. The choice which you think is correct, fill the
relevant circle in front of that question number on computerized answer sheet, Use marker or pen to fill the circles.

Q-No.1 Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.
S.# Questions A B C D
The parametric equations X = a sec 8 and . ;
) E . Eil
: y =b tan © represent the equation of: HiEsbo's Grikis Parabola pse
: n
) Lim [1 3 ] - o o2 o &8
n—+w n
d {1 .
——|—=-jatx=11s= - 2 -
P [xzj i 2 J 1
—{sin7'x) =
4] ( ) V1-x2 V1+x2 V1-x2 V1+x2
5 ' (sec™! x + cosec™! x) = 1 -1 0 2
dx
d X] = X X, 3 5%
5 |7 6) 5 5% fnS = 5(5%)
+1 -1
7 j.i i - nx"l+c S X" +c
dx n+l n
2 2
8 I&dx-Ide = 0 2fntanx +c | 2éncotx+c fncotx +c¢
tanx cotx
9 Isec2x dx = COtX +¢ tanx +¢ secX +¢ cosecX +¢
- i 1 3 3
to | [xax= 7 2 7 -2
11 | Distance of the points { 2 , 3 } from y-axis is: 2 3 5 v13
12 The poim X ]llleTSCCtlon ofmedians ofa Circumcenter | Orthocenter Centroid In-center
triangle is called:
13 | fmiand m: are s!opes of two lines then lines v B PN DU 3 [N | ——
are perpendicular if:
g : 2 2=
14 lwolmesrcprel&_entcdbyax + 2bxy + by* =0 T a+b=0 o G4 b0
are orthogonal if:
15 | (1,2)is one of the solution of inequality: 2x+y>5 2x-y=35 2x+y<3 2x+y<3$5
16 | Vertex of the parabola y* = 4ax is: (0,0) (a,0) {(0,a) (a,a)
2 2
17 Vcrticcsof%+~y?=1 a> b are: (+a,0) (0,xa) (0,£b) (+b,0)
a
The length of latus-rectum of the ellipse
15 | 5y L T e
a—2+—i7=1 is: a a b b
If any two vectors of scalar triple product are
19 . : 1 2 -1 0
equal then its value is:
The non-zero vectors ‘a’ and 'b' are parallel if
20 2ach 0 1 -1 {(a,b)
X =
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SECTION —1

2. Attempt any EIGHT parts:

fad

(i)
(1)
{iii)
(iv)
(v)
(vi)
{(vil)
(vi)
{ix)
{(x)

(xi)

(x11)

()
(i)
(iii)
(iv)
{(v)

(vy)
(vii)

(viii)

(ix)

(x)

(x1)

(xit}

Find gog(x) if g(x) = ;—3_—1_ x£l
1 = {}
Evaluate Lim — sinx"
x>0 X

mx ifx<3

{ m so that f is conti =3 fix)=
Find value of m so that f is continuous atx =3 : fix) {xz >
Find the derivative of y = (x* + 5 ) {(x*+ 7 ) wrt. °x’

Find g% ifx=at?,y=2at
Differentiate x2? secdx w.rt. *x’

Differentiate w.rt x:cot-! X
a

Find f'(x) if £(x)=e*I+ nx)
Find yq if y=m(x2-9)

Define relative maxima.

If f(x) =%X‘*—Lx3+%x2+2x+7  find fV(x)

6
B 2 dy
Ity =tan h (x%), find i

. Attempt any EIGHT parts:

Find j—i using differentials, if x* + y* = xy?

Evaluate the integral J_‘{__MEI} e
Vx4l -4 x

Evaluate the integral .‘.x(f’ﬁl—xzxﬁ

Evaluate the integral jx cosx dx

Evaluate the integral |x?tan~! x dx

Evaluate the integral Ixfe“ dx

State the fundamental theorem of calculus.

N
Evaluate the definite integral J.x«.f x2-1 dx
2

™
Evaluate the definite integral j sin x dx
=T
dy _1-x
dx vy
State the linear programming theorem.
Graph the region x-y <3 ;| x+2y<6

Solve the difterential equation

( Continued P/2)

16



